3.9.1 Review (Fall 2019)-f19-2 October 22, 2019

Today's Learning Goal(s):
By the end of the class, | will be able to:

a) review all ideas for the unit summative.

(See Next Page)

You may wish to print out 4.1.1
in advance of next class.



3.9.1 Review (Fall 2019)-f19-2 October 22, 2019

3.7.2 Connecting Formulae Worksheet 1

Extra practice

Make x the subject of the following:
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dForr=%,ﬁndrwhcn I1=5827,t=54, and P = 500.

. 580%
SOo(s c/>

= 00158
= d. (Y&
=067
d)For P = ;- find P when A = 1500, i = 0.035, and n = 24.

F: /Y5O0
(I+0035) 1
= 656 .93 17
=Yse gy

f) For V = l;*xr’.ﬁnd Vwhenr =35,

= i%u”(é_if

= [19.57y
= {159
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Some to try

1

11

13

i5

17

19

21

23

Make ! the subject of J* = f&

Make ki the subject of ¥ = i
Make u the subject of v = g + ar
Mike W the subject of F = 2+ W)
Meke & the subject of 4 = h—(“-ﬁ-"'—ﬁ)

Make m the subject of [ = e - il

Make A the subject of A= 207 4 205

Make o the subject of F -—--L—_
dmi*

Muke T the subject of ¢ = L
Y

Make r the subject of o = Jr!?ﬁ!J -}

Make p the subject of £° = p%c? 4 iy

Make v the subject of F e e

10

16

24

Make m the subjectof = mr 4o
Make r the subject of F = mih

) FPRT
Make P the subject of 7= 200
i 100

Make / the subject of L = {1 + ar)

Make a the subject of 4 = ﬂ‘%@

Make u the subject of § = my — Wil

Make a the subject of 3w + Lar®
Make v the subject of F w Lot

Make " the subject of F =20 432

Make ! the subject of T = 20 i
£
Muke £ the subject of _]. =_] + 4
RR R

Make v the subject of pa 0
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Clilter atwers are possitle - i in doubt, ask your mtor,
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3.7.3 Connecting Formulae Worksheet 2

1. Find the value of the indicated variable in each formula: Where

necessary, give the answer to 2 decimal places.

a) For p = 2(I + w), find p when1=13.9 and w=7.2.

b) For A = £ bk, find A when b=5.9and k = 3.4,

<) For I = Prt, find I when P = 525, r = 0.0375, and t = 5.5,
d} For P = 45, find P when s = 64.75.

e) For V = nr’h, find V when r=5.1and h = 9.4

) For C = 2rr, find C when r = 17.5.

g) For A = 2nrh, find A whenr=62and h = 7.3.

2. Find the value of the indicated variable in each formula. Where

necessary, give the answer to 2 decimal places.
a) For § = 5{5:#1, find § when n = 87,

b) For A = ﬂﬂg—ﬂ, find A when a = 4.6,b =57, and h = 6.4,

¢ Forr = ?fr-, find r when I=35827,¢t=54, and P = 500.

d)For P= A find P when A= 1500, i = 0.035, and n = 24.

e) For V = 1nrh, find V when r = 4.1 and h = 8.3,
fi For ¥V = %mj, find V when r = 3.5,

Necessary Skills: 3 New—Evaluating a Formula

(ANSWERS | &2

€} F= 10828 . dy P=2%50
el F=T64.10 fi C=1059
gl A=284138 .

2. a) S=3828 b A=3294
) r=002 d) #=12.06
e] P=a56.94 - F=14611

g F=1795%
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3. Given the formula E = I° Rt
a) Find R when E = 1500, [ = 4 and ¢ = 50, to one decimal place.
b) Find s when =2 500, /= 3.5 and R = 30, to one decimal place.
¢) Find Iwhen £ =1 200, R = 10 and ¢ = 35, to one decimal place.

FINAL ANSWERS: a) 1.9 b) 6.8 c) 1.9

4, Solve for x;

a) A=1Ix by P=2L+2x c) yv=mx+h d) A4 =—hx

-2 b
FINAL ANSWERS:a) x=4 b) P 2J' =X C)x= y=b d) v =44
m
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3.9.1 Review Date: éjéi & [ / / 2

1. Factor the following completely. Note: You are NOT solving for x.

a) 25x° —30x% +35x bY 144x* - 2527 o) Txlx+2i-5x+2)

=S )C/SK{ {x }_\>

3 Check Solns
=
I 0x ik
4 x*—10x-24 g) x*—12x+32 £ 3x*-x-30 ( 20
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)(w—(OX —a) % = 3X/>(f3>~/0{><7“7ﬂ f

g !

_ S S

O e = (30 )X Loy
& Oi—ovaglra»szac/

= %oy -ay
g Txi+x-8 h) 8x*-5x-3 0 oxt-3 +2x-6

0 a-2atad-2d gy 2x*-o98x°
=2 (P-49)
= (WD)

la) 5x5x" —6x* 471 &) 22 —5z022* +52) ) (Tx=5ix+2) & (x—120ix+2)
el lx—8ix—4) ) (3x-100x+3] g2 Tx+B8ix-11 hy Bx+30x-1)
1 xF20x=30 ) la+dia-2) K 2xfx=Tix+7)
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2. Solve. Factor and use the quadratic formula where needed.

a) Y4y +2y+2=0 By 1622 -36=0

Ja/ﬁmw/y%):k?
/35—0(3 £y) =0

N
g)lr( =0 J if_&
&—_-—( ﬂg:i_ﬁ/ Q@q/

d) 2x'-18x% =0 g xi-3x?42x=0

g 272+ 13x+15=0 b 2 -
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o) 152 +3x-12=0

> (557~ 9)=0
352 ?y@gj]: 0
>[5 D156 4) =9
3 (5% 9 6@(): 0
PERIEY

Check Solns

i 2xt—20x° +4827 =0

D 48+ 102 -2 =0

%3” 7 ~2x (R8-St ()=O
=319 U o I BYD
ey 2 &)
=) ” d/
KAV 5 (=
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—-\—/\/_\
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K=y é{g/\'> ‘/

SN Ty
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2 2

-3
r=—,-5
g 2

by x=267 1) x=0,x=228 x=022

. (eqre-a)=o
-4 E31=0

R x\— C{;\>\ 5

== -1 @ x=0-33 & x=012 D =064

D x=241 k) x=-3,34
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3. Find each product.

al dx+opiExr—9yi )] —6x—3yi—6x* —xy+ 57

Check Solns

P (It oo sany )
=22 45570 100 - Y T 16 U9 100 T
=y 410y Ky 2 axy” Moy“/

3a) 32x% +4xy—45pF b)Y 36x° +24x*y—27n =15y o) —2xt #1027y 11247 =T #1100
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4. Rearrange each formula.

a) Nlake x the subject of 548y +4x=33 b) Make b the subject of 4= kla+b)
Check Solns
. . x+3y
o) Ifake v the subject of [ = mv— d)l Make x the subject of 5 =3
z—2x

Xt 5j:5(;—2><>
Xt 57: 52-6K

Xk = 22774
e) Mdake x the subjectoflx+ll2=4yz+6 l}( — 3z_ ’5?

%L(li_\ "/J-?_J—% ){ 3¢
il "T
X= /1 e

24 I _3z-3y

da) x=-2y+7 )] b=?—a o) ov=—4u 4 x €) x=*f4yz+6 -1
m
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4. Melissa is running a ski trip during the exam break.
The bus holds 40 students and if she charges $250 per student the bus will be filled.
For every $25 increase in the price she charges students, two fewer students will go on the trip.
a) Write an equation to model Melissa’s revenue.
b) Determine the maximum revenue.
¢) How many students need to go on the trip for Melissa to earn $8800?

a) Revenue= Price x Number {-,Q(/c.vls

=p( 0. 0&P+60> -2

= -0. ng +6op o))

bR _0'0203 Fedp P (}2T0>
:~0'0gP(‘0-7—S—O> - ((O\’zj 0
4 A p=rg = H0- a~5f)+9

4
P-‘};}

the max. revenue would occur when ticket price is set at $375
(the max. revenue would be $11250, from 30 tickets being sold. 11250+375=30)

C) 85001_0-02033;'-60/0 |
0.0¢p* ~6op +-8Rv2 = 0
0'08[,0&“ ?50’0 1 //0()0)‘_O

0.08(p- 50) (‘O’AOD): O
fﬁ(g) o P 200

to earn a revenue of $8800, ticket price must be set at $550
(resulting in only 16 tickets being sold  8800+550=16) [+z=gE0s

or the ticket price must be set at $200
(resulting in 44 tickets needing to be sold  8800+200=44 / \
[What is the problem with this idea?]

Melissa is best off setting the price at $375

W=7k =11zED

H=EED ‘Y=BE0D
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